
 

  



 

Шифр ___________________  

  

  

Матрица ответов  
 

 

ЧАСТЬ   I   [30 БАЛЛОВ] 

 

 

ЧАСТЬ   II   [25 БАЛЛОВ] 

 

 

 

ЧАСТЬ III  [15 БАЛЛОВ] 

 

 

 

ЧАСТЬ  IV   [9 БАЛЛОВ] 

 

Задание 1. За задание 3 балла 

 

Задание 2. За задание 3 балла 

 

Задание 3. За задание 3 балла 

 

№ 1 2 3 4 5 6 7 8 9 10 

1 – 10           

11 – 20           

21 – 30           

№ 1 2 3 4 5 6 7 8 9 10 

Да/Нет д н д н д н д н д н д н д н д н д н д н 

а                     

б                     

в                     

г                     

д                     

№ 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 

«Да»                

«Нет»                

Приспособленность организма 1 2 3 4 5 6 

Эволюционный процесс       

Культура  1 2 3 4 5 6 

Центр происхождения       

Структурный элемент 1 2 3 4 5 6 

Вид        


